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An Study of Ambiguity and Non-solution of Passive TDOA Location Systems

Deng Yong Zhou Yiyu
( Electrolic Engineering Institute, NUDT , Changsha, 410073)
Abstract T he problems of possible ambiguity and non-solution in 2D 3-Station T DOA Location systems are diss—
cussed - We find out the relation between ambiguity and the placement of stations, and the laws of the placement of non—
station and the placement of stations the intention of measuring noice- Furthermore, We present several solutions
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